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General Instructions :

Read the following instructions carefully and strictly follow them :

(i) This question paper contains 35 questions. All questions are compulsory.

(it)  This question paper is divided into five Sections — A, B, C, D and E.

(iti) In Section A — Questions no. 1 to 18 are multiple choice (MCQ) type questions,
carrying 1 mark each.

(iv) In Section B - Questions no. 19 to 25 very short answer (VSA) type questions,
carrying 2 marks each.

(v)  In Section C - Questions no. 26 to 30 are short answer (SA) type questions,
carrying 3 marks each.

(vi) In Section D - Questions no. 31 and 32 are case-based questions carrying
4 marks each.

(vii) In Section E — Questions no. 33 to 35 are long answer (LA) type questions
carrying 5 marks each.

(viii) There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
2 questions in Section E.

(ix)  Use of calculators is not allowed.

SECTION A

Questions no. 1 to 18 are Multiple Choice (MCQ) type Questions, carrying

1 mark each. 18x1=18

1. The colligative property used for the determination of molar mass of

56/1/1

polymers and proteins is :

(a)  Osmotic pressure

(b)  Depression in freezing point

(c) Relative lowering in vapour pressure
(d)  Elevation is boiling point

Low concentration of oxygen in the blood and tissues of people living at
high altitude is due to :

(a)  high atmospheric pressure

(b)  low temperature

(c) low atmospheric pressure

(d)  both low temperature and high atmospheric pressure

3> B P.T.O.



10.
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frfctiaa stmfshan @ fog @&t e e 2
Zn + 2Agt — Zn?* + 2Ag

(a) 2Ag| Agtll Zn | Zn%*

(b) Ag* | Ag |l Zn?* | Zn

(¢ Agl Agtll Zn | Zn?*

(d) Zn|Zn?* || Ag* | Ag

Teh Tod: Tdfad (kAT & fiT AG 3R B B

(a)  YdTcHh, RUMcHh (b)  ZRUIcHh, RUTcHh
(¢c)  RUMTcHS, GdTcHb (d)  GqTcHb, YdTcHh
fafafga # 9 -8 3SR ¥ yHIfad BT 8 2

(a) AH (b) AG

© E; (d AS

H, (g) + Cly (g) —2¥ 2HCI (g) % fu stfirfsean #ife &

(a) 2 (b)) 1

0 O d 3

ATEE Y Haifere A 3 TR ATRfieRtor 7T @

(a) +2 (b) +3

(c) +4 (d) +6

ifires [Co(SOy) (NHg)s] Br 3T [Co(Br) (NHjg)s] SO, fr&fud #id 2 :
(a)  gav gHEIEd (b)  SY FHTEHEAT

(c) A GHTSId] (@) SUHEEIISH SHTEFad

Ufeehdd FITIISE ol TYTU Had TTS! ig | I fohdT JTaT @
(a) Gk HeThl A (b) TaTeS fHfshan &
(c) Heamrr itk & (d) Theraeda arfifsear @

iR R — OH + HOl — 22912, Rel + H,0 & tewrata &1 stfifrmefiem
1 HEl SHH FT § ?

(a) 1°<2°<3° (b) 1°>38°>2°
(c) 1°>2°>3° d 8 >1°>2°
m4mE
4> =
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The correct cell to represent the following reaction is :

Zn + 2Agt —— Zn%* + 2Ag
(a) 2Ag| Agtll Zn | Zn%*
(b) Agt| Agll Zn?* | Zn
(¢0 Agl Agtll Zn | Zn?*
(@ Zn|Zn%* || Agt | Ag

AG and E::ell for a spontaneous reaction will be :

(a)  positive, negative (b)  negative, negative
(c) negative, positive (d)  positive, positive
Which of the following is affected by catalyst ?

(a) AH (b) AG

(¢ E (d) AS

a

The order of the reaction

H, (g) + Cly (g) —2— 2HCI (g) is :

(a) 2 (b)y 1

(c) 0 (d 3

The most common and stable oxidation state of a Lanthanoid is :
(a) +2 (b) +3

(c) +4 d +6

The compounds [Co(SO,4) (NH3)5] Br and [Co(Br) (NH3)5] SO, represent :

(a)  optical isomerism (b)  linkage isomerism
(c) ionisation isomerism (d)  coordination isomerism
The synthesis of alkyl fluoride is best obtained from :

(a) Free radicals (b) Swartz reaction

(c) Sandmeyer reaction (d) Finkelstein reaction

In the reaction R — OH + HCl Zn—Clg) RCl1 + HyO, what is the correct

order of reactivity of alcohol ?
(a) 1°<2°<3° b)) 1°>3°>2°
c) 1°>2°>3° d 38>1">2°

<5>
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11.

12.

13.

14.

Ucehiglc! H1edH H NaOH 3R Bry o "1 CH3CONH,, H{Ulsham T <l 3 :
(a) CH3COONa (b) CH3NH,

(c) CH3CH,Br (d CH3CH,NH,

feferfiga § @ -5 998 9 gk © 2

(a)  (CH3),NH (b)  NH;

(c) QNH2 (@  (CHy),N

T oh UNCTE 92 H TOhId $ohIal Wl SIS oh ToT¢ AFITeTd TegehidTgs! 99
3

(a) C;-Cg a¥¥ () C,;-Cqz BT
(¢ C;-C, ad¥¥ d C;-C, pu
- BT TLEHTCHS &I §

(a) PG I (b) W I

(¢)  UIfIUTCTSST <l d) fFasTeEs #

Uy7 @&IT 15 @ 18 & (70, 31 %97 130 70 § — G79 vk &1 Af9asaT (A) aar
G &1 FROT (R) ZRT Sl a7 747 & | 37 941 & @g1 I 14 137 7T &ist
(a), (b), (c) 377 (d) 7 @ g T |

15.

56/1/1

(a) 3P (A) 3 SR (R) THT Tal & 3 SR (R), AR (A) hI
g ST AT 2 |

(b)  SAfTHA (A) 3T HRU (R) THT T&l &, T RV (R), AT (A) H
&l SR Fgt il 8 |

(c) AR (A) HEl B, T BRI (R) TAd 7 |
(d) 3w (A) T4 8, T HROT (R) TE 7 |

SHFIT (A) : FAGAA Tfceemaq Afshaneti # —NH, 8 o- 3R p-Fweh
a1 2 |
HRU(R):  UfclE $hisa-shraed AR T8l ¢ Hehdll 7 |
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11.

12.

13.

14.

CH3CONH; on reaction with NaOH and Bry in alcoholic medium gives :
(a) CH3COONa (b) CH3NH,
(C) CH3CH2BI' (d) CH3CH2NH2

Which of the following is least basic ?
(a) (CHj)oNH (b)  NH;4

(c) QNH2 (d  (CHg),N

The glycosidic linkage involved in linking the glucose units in amylase
part of starch is :

(a) C;-Cg alinkage (b)  C;—Cg B linkage
(c) C;—-C, alinkage (d  C;-Cy P linkage
An a-helix is a structural feature of :

(a)  Sucrose (b)  Starch

(c) Polypeptides (d)  Nucleotides

For Questions number 15 to 18, two statements are given — one labelled as
Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (a), (b), (c¢) and (d) as given below.

15.

56/1/1

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

Assertion (A) : —NHy group is o- and p-directing in electrophilic
substitution reactions.

Reason (R):  Aniline cannot undergo Friedel-Crafts reaction.

7> B P.T.O.



16. 37¥%Y7 (A) : UlIeiH o THifedd @ tehar Ufaeenfud Icure st 2 |

HRU(R):  —NHCOCH; Hqg I Hfshavl Y9 UHHI &g ¥ e Bl
g |

17.  37f%97 (A) : AWHA Hy + Bry — 2HBr § {0kl 2 Td1d 21l 3 |
FRU(R): T g% MATHh AHTshAT § TR o G 70 W <d @ |

18.  379%97 (A) : 71 T=shvT Sqsherchid 9t foict & ¢@ 91 3 |

FRU(R):  IAIhABT THall o AT JTH Hofl ol ol H fohtead &
fodTed a1t A Bt 2 |

Qs 9
19. &0 9@ ®=1 g 23U U STIIAN 1T | 2

20. (%) T for@-sagesi ‘A’ 3R B’ 1 TR FH W, A’ hHl A 25 AT F&dl
8 Seieh B 1-5 TAT dgdl 8 | 90 § -1 {Igq-s1vees 96 8 ?

7 3 1 gfte 3 forw o wf | 2

AT

(@) 005 mol L™! NaOH fae@ & i w1 foega gfalier 5:55 x 103 ohm
2 | 3HR AE 1 cm U9 AR 50 cm @ | SEeh <Tciehdl bl IiehaH

i | 2

21. TrfaRaa gefeRtort i qui HIf - 1+1=2
(%) 2MnO, +5NO, +6H ——

(@) Crzog_ +14H" + 6~ —>

PCI5 N ‘A, AgCN N ‘B’

22. (%) CHy;-CH-CH,

|
OH

(@) CH,CH,CH,Cl+ KOH WA, 0 HBr |
STh AR | ‘A’ 3R ‘B’ &l Ig=THT | 1+1=2

56/1/1
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16. Assertion (A) : Acetylation of aniline gives a monosubstituted product.
Reason (R):  Activating effect of - NHCOCHj3 group is more than that

of amino group.
17.  Assertion (A) : The molecularity of the reaction Hy + Bry —— 2HBr
appears to be 2.

Reason (R): Two molecules of the reactants are involved in the given

elementary reaction.
18. Assertion (A) : Low spin tetrahedral complexes are rarely observed.

Reason (R):  Crystal field splitting energy is less than pairing energy
for tetrahedral complexes.

SECTION B
19. What is Henry’s law ? Give one application of it. 2

20. (a) On diluting two electrolytes ‘A’ and ‘B’, the A, of ‘A’ increases

25 times while that of ‘B’ increases by 1-5 times. Which of the two
electrolytes is strong ? Justify your answer graphically. 2

OR

(b) The electrical resistance of a column of 0-05 mol L_1 NaOH solution

of diameter 1 cm and length 50 cm is 5-55 x 10 ohm. Calculate the
conductivity. 2

21. Complete the following equations : 1+1=2
(@)  2MnO, + 5NO, +6H ——
(b)  Cry07 +14H' + 66~ — >

PC]5 N ‘A’ AgCN N cB’

22. (a) CH3-CH-CHjg

|
OH

(b) CH4CH,CH,Cl+ KoH —¢thanol .\, HBr
Identify ‘A’ and ‘B’ in the above reactions. 1+1=2

56/1/1 <9 >

P.T.O.
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24.

25.

26.

27.

28.
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() Feferfga ® foe R SR 1+1=2
(i)  Ucohlgial i ol H HHIA AT Tt 310 BT & |
(i) Ucehlgial o FAUHTH Ufcshd T@AT H @ F6- o a19 5ed 3 |
arerat
(@) () H=faiea sfufsean i ety faRew

+
CH4,CH,0H —= > CH, = CH, + H,0
443K

Gi) U fsrfsran # gftfaq gt fafay | 1+1=2

a9 ¥ ey hiforu : 1+1=2
(%) iU AfdfsHa
(@) Afsua dfauss T

(%) Uh TEEHS THRE gy, I8 qui % g {6 D@ i foga
GG § R SfEdn gl g |

(@) WA & i & fou ffe yer 1 99 IRt giar g ? 2

Qus T

(%) ATeR faera X eyl faoem & ney @ faflay |

(@) 846 g¥d | 30 g AT AT TAT g | Al¢ 298 K R I el I 9] T
23-8 mm Hg ?, @I 39 faeta & fou Sia1 &1 oy g« aftesfora shifre | 3

i e 3amg fafae 5« 3x1=3
(%) et FrTgs S Nal/UHieq & oy rfufsla fomar S 2 |

(@)  2,4,6-TATS FARIS S T STA-3TTEe TR ST 7 |

()  n-FRA FANSES HI Uehiaia KOH & A1 AfTGRRA foham STaT 2 |

g ffefaa U= 8 ag H31 (S8 77) 3x1=3
(%) bFTa & fufshe 10

(@) WUH T 2-Af9IuT-2-31Ta

()  HFTA § U

(") W | 9E-1-31Td



23.

24.

25.

26.

27.

28.

56/1/1

(a) Account for the following : 1+1=2
(i)  Phenol is a stronger acid than an alcohol.
(ii)) The boiling point of alcohols decreases with increase in

branching of alkyl chain.

OR
(b) (i)  Write the mechanism of the following reaction :
+
CH,CH,0H —~ > CH, = CH, + H,0
443 K
(ii) Write the equation involved in Reimer-Tiemann reaction.  1+1=2
Explain briefly : 1+1=2

(a) Carbylamine reaction
(b)  Gabriel phthalimide synthesis

(a) Write chemical reaction to show that open structure of D-glucose
contains the straight chain.

(b) What type of linkage is responsible for the formation of protein ? 2

SECTION C

(a) Differentiate between Ideal solution and Non-ideal solution.

(b) 30g of urea is dissolved in 846 g of water. Calculate the vapour
pressure of water for this solution if vapour pressure of pure water
at 298 K is 23-8 mm Hg. 3

Write main product formed when : 3x1=3
(a) Methyl chloride is treated with Nal/Acetone.

(b)  2,4,6-trinitrochlorobenzene is subjected to hydrolysis.

(c) n-Butyl chloride is treated with alcoholic KOH.

How do you convert the following : (Any three) 3x1=3
(a) Phenol to picric acid

(b)  Propanone to 2-Methylpropan-2-ol

(c)  Phenol to anisole

(d) Propene to Propan-1-ol

P.T.O.

<ar>

¥



29. (&) AR HINT A 3x1=3

(i) S5 3TF H hraifadd Tg Hel Heweh gl & |

(i) Ufcegsel 3R HcHl o Tieh & fou Fifead aEacHse TIH
foran ST 2

(iii) PEIGIIh T, AN GHg hl HAZR JATARAT T
Td & |

AAAT

(@) TH wEH AR ‘A’ &R 3T C3HgO 8, 573 K W Cu % 19
AMAFRRE | B’ a1 3 | B Biew faera &1 emfad 8 +tar 8
Afehd I,/ NaOH & &1 Afeh ¢’ 1 fiell 7989 a1 8 | A, B3R C
ATt w1 e Hif | 3

30. (%) (i) FE, (ii) ATCeE & TA-ITIEH & IS T 8 2

(@) WM AR AGAE o AT AT TLHTHS R ST | 2+1=3

Qi Y

AET1eTIGd 97 Sa-TRT 397 & |  H1 TEaeH1ga® 7167 37K 13T 7T F971 & I
3%%? /

31.  Afufsham o, 3o1S TW § SRRl <t TigaT TS 9T ISl hl Higdl dfg
T Hafyd gram 7 | 39 fopeft 1o Ty W areeforeh o o ' H SR forelt
IO A § 3TEd o | YgRid fRAm ST dekar g | AMufshAT A W TR
9o =1 o W Ed 7 | o e wg Atk i ®ife w1 fgior an
o S7ran FHER{cTa o |HIeRTT gRT T Fehd ® |
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29. (a) Explain why: 3x1=3
(i)  Carboxyl group in benzoic acid is meta directing.

(ii) Sodium bisulphite is used for the purification of aldehydes and

ketones.

(iii) Carboxylic acids do not give characteristic reactions of

carbonyl group.

OR

(b) An organic compound ‘A’, having the molecular formula C3HgO on
treatment with Cu at 573 K, gives ‘B’. ‘B’ does not reduce Fehling’s
solution but gives a yellow precipitate of the compound ‘C’ with

I,/NaOH. Deduce the structures of A, B and C. 3

30. (a) What are the hydrolysis products of (i) Lactose, (ii) Maltose ?

(b) Give the basic structural difference between starch and cellulose. 2+1=3

SECTION D

The following questions are case-based questions. Read the case carefully and

answer the questions that follow.

31. The rate of reaction is concerned with decrease in concentration of
reactants or increase in the concentration of products per unit time. It can
be expressed as instantaneous rate at a particular instant of time and
average rate over a large interval of time. Mathematical representation of
rate of reaction is given by rate law. Rate constant and order of a reaction

can be determined from rate law or its integrated rate equation.

P.T.O.
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32.
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()  TEa Affsham 9 <=1 a1 & 2 1

(i) <1 ek faRau S SAffshaT shi ST sl THTled HLd & | 1
(iii) (1) I ohife <t Afufshan o o stfifsran o =t @ g g 2
(2) I I i AAMRAT & T k i FhIg 1 7 2 2x1=2
HAYAT

(i) (1) Ueh 3K P + 2Q —— IUE o Tow o7 = k[P]1V2 [QI1 ] |
SrfvrfeRam <l hife =T 2 2

(2) Ueh IS8T Hied BeH TIW hife Afufshan 1 aftarfog il | 2x1=2

SYEEEANSH ARl | GTqu g YR hi FASehard, Tiefhes 7R T, vefia
HA & | TTAfes GASRdTd STRA- gl @ dT SRUMTcHeh AT STR—HT grl
gse gt 8 | fgdiaeh Taeehdd. SH-STAHIT Bl & 7R Tehteh! Soideld I
3<h IQTEA TAYAT ROMTcHS ITRET G TS Bidt & | TNAfHeh FASIehary, ATSfeh
Bidt & STefeh Tgeiiaeh HAISohaTd Hehdt ohl STTehfd 4 et 8 |

(i) IR PtCly . 2NHg, AgNOg o &1 ARAT T8 heal g, al s

T BAT ? 1
(i)  [Colen)s]3+ sl factrer TSRl =T 3 ? 1
(i) (1) ST FEREHERE(I) F ¥ fafau |
(2)  [Co(NHj3)sCl] Cly 1 313 R .w.Hl. 7% feifn | 2x1=2
Tt
(i)  [Ni(CN)]?" I Gehtul Td Traehiy =g forflgu | 2

[ORHTY] |&T : Ni = 28]
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(i) What is average rate of reaction ? 1
(i1)) Write two factors that affect the rate of reaction. 1
(iii) (1) What happens to rate of reaction for zero order reaction ?
(2) What is the unit of k for zero order reaction ? 2x1=2
OR

(1ii)) (1) For areaction P + 2Q —— Products
Rate = k[P]1/2 [Q]1. What is the order of the reaction ?

(2) Define pseudo first order reaction with an example. 2x1=2

In coordination compounds, metals show two types of linkages, primary
and secondary. Primary valencies are ionisable and are satisfied by
negatively charged ions. Secondary valencies are non-ionisable and are
satisfied by neutral or negative ions having lone pair of electrons. Primary
valencies are non-directional while secondary valencies decide the shape

of the complexes.

(1) If PtCly . 2NHg3 does not react with AgNOg3, what will be its

formula ? 1

(i1) What is the secondary valency of [Co(en)3]3+ ? 1

(i) (1) Write the formula of Iron(III)hexacyanidoferrate(II).

(2)  Write the IUPAC name of [Co(NH3)5Cl] Cls. 2x1=2
OR
(iii) Write the hybridization and magnetic behaviour of [Ni(CN)4] 2=, 2

[Atomic number : Ni = 28]

P.T.O.
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Qs &

33. (%) (1) Il & Toad AEEA H Hieesy = ffgw | Fiewsn
fom % gur UEHifesh s i Hiwia Hier =Teehal % o

e ffEu |
(i) 298 K W & 7§ anfufskan & fou stfespam &Rt 3 log K,

gftesfera hifs

Ni (s) + 2Ag+ (aq) = NiZ' (aq) + 2Ag (s)

o o 2 E 2+, =025V, EAg+/Ag:+O-80V

1 F =96500 C mol ™ 2+3=5
HAAT

@) () HUS % fagg-smee %1 yem fom fafew | 19 Cu2t + Cu
T IUERd & & Tt $Ug & g § fohan & Ao

BN 2
i) 298 K W fm=fifgd ¥« &1 fogq-ae® sd (emf) Tiepiard
ﬁﬁm :
Mg (s) | Mg2* (0-1 M) || Cu2* (0-01 M) | Cu (s)
(B =+271V, 1F=96500C mol™}, log 10 = 1] 243=5
34. ffaRga v & fau sro @S 5x1=5
(i)  HhHU dwal < 3d At T F WIS +7 hl IHAH AR TET
el ar 2 |
(i) THAU IIE AR ITeh ANk YIRS AMGRIRT H HAHIG: 378
3 B 7 |
(iii) Cr2* TU=Fh Yehld I & Salh I d-h&eh =18 (d%) FT Mn3+ Th
ATFH RS 2 |

(iv)  Zn < HUA Tedt AT gl 7 |
(v) i foemed d§ Cut s giar 7 |

56/1/1
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34.
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(a)

(b)

SECTION E

(i) State Kohlrausch’s law of independent migration of ions.

Write an expression for the limiting molar conductivity of

acetic acid according to Kohlrausch’s law.

(ii) Calculate the maximum work and log K. for the given

reaction at 298 K :

Ni (s) + 2Ag+ (aq) = NiZ' (aq) + 2Ag (s)

Given : ENi2+ N T 0-:25V, EAg+/Ag =+0:80V
1F = 96500 C mol
OR

24+3=5

(i)  State Faraday’s first law of electrolysis. How much charge, in

terms of Faraday, is required for the reduction of 1 mol Cu?*

to Cu?
(i1)) Calculate emf of the following cell at 298 K for
Mg (s) | Mg2* (0-1 M) || Cu2* (0-01 M) |Cu (s)
[Ecey =+ 271V, 1F=96500C mol™}, log 10 = 1]

Assign reason for each of the following :

1)

(ii)

(iii)

(iv)

(v)

2+3=5

5x1=5

Manganese exhibits the highest oxidation state of +7 among the 3d

series of transition elements.

Transition metals and their compounds are generally found to be

good catalysts in chemical reactions.

Cr?t is reducing in nature while with the same d-orbital

configuration (d*) Mn3+ is an oxidising agent.
7Zm has lowest enthalpy of atomization.

Cu™ is unstable in an aqueous solution.

<ar>
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35.

56/1/1

1)

(i1)

1)

ffaRaa wuT=awon =1 wvae hife

(1) TS | 2-2-51-1-3T0

(2) TS 3TFA U 2-FAIIIUATSeh 3TF

CsHyo STIES Tell Th Uoch STSII-30eeT & @ Aifiehi B
3 C w1 Ty T R | AR B eeTers et wlew AT @
3R 1, A9 NaOH foreaq & @19 ot S1fwfshan star g | @fies ‘¢

e foemm oo T8 <ar dfer sTaered Mfda e @ |

Afireh ‘A%, B’ 3R ‘C’ i =TT | 2+3=5
HAYAT

3T Tk adeqor g favg i -

(1) CHsCOCH,CHj 3K CH3CH,CH,CHO

(2) TIA AR UAATEHh 37

(i) RN & Affean $i gt fafgu |
(ili) A ¥ Dl YgaTHT | 2+1+2=5
CH,COOH PCls , o _Hp/Pd-BaSO4 p ()CHy/MgBr
(i1) H3O+
J/LiAlH4
D
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56/1/1

(a)

(b)

(i)  Carry out the following conversions :

(1) Ethanal to But-2-en-1-al

(2) Propanoic acid to 2-chloropropanoic acid

(ii) An alkene with molecular formula C;H;, on ozonolysis gives

a mixture of two compounds ‘B’ and ‘C’. Compound ‘B’ gives

positive Fehling test and also reacts with iodine and NaOH

solution. Compound ‘C’ does not give Fehling solution test but

forms iodoform. Identify the compounds ‘A’, ‘B’ and ‘C’. 243=5
OR

(i)  Distinguish with a suitable chemical test :

(1) CH3COCHQCH3 and CH3CH2CH2CHO

(2) Ethanal and Ethanoic acid

(11) Write the structure of oxime of acetone.

(iii) Identify A to D. 9414925
CH,COOH — P56 , o _ Ha/Pd-BaSOs g Eiii))(;i?)ngBr o
lLiA1H4
D

¥
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AT 7597 :
FHETITIEd 14397 @1 agad a1 @ 9igq 31 371 ] & qIci7 Bl :

(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)

$F v7-97 4 35 F97 & | @4t 397 AT & |

T8 Y9797 qid @US] 4 f[qyifaa 8- &, @&, W, GG & /

GUE & 7 J97 G 1 & 18 TF Tglahetid THR & Th-Ueh 376 & J97 & |
e & 4 397 G719 G 25 a% 377 Tg-ITIT YBR & g1-31 37H & J97 8 |
U 7T 7 Y97 G&7 26 8 30 7% TY-F0T YhR F dA-d1T 3hl & I97 & |
GUE § 7 Jv7 T&IT 31 I 32 HG-SERT TAR-FAR 37! & F97 3 |

G T H y97 G733 & 35 Fe-3HIT IFR & qia-giar sl & I8 |

J7-97 § GHY fdheq 751 1397 7971 3 | FEfd, @vs @ & 2 yo9l 4, GUS T & 2 Fe
A, @8 g %2 Y% § ayr @S & & 2 ¥ 7 IaRke faeheq &1 JiaerT a7 &

g/

(ix) Sepact 1 39N afsdd & |
QUs &
7 G&T 1 & 18 T aglascdid YHR & Uh-U 37 & J97 & | 18x1=18
1.  o-gfcTed SIS 0T 2
(a) ThIE (b) T HI
(c)  TicIUISel I d) fFAsTeEe! &
2. WM % VAT Uch H TR SRSl i AlSH @ [T, Affad Tshiarse! 99
2
(a) C;-Cq add¥ () C;-Cg poH
(¢0 C;-C,as¥ d C;-C, p¥d
3. Agt(aq)+e —— Ag(s) E°=+080V
Fe2* (aq) + 26~ ——> Fe(s) E°=-044V
Fe (s) + 2Ag* (aq) —— Fe?* (aq) + 2Ag (s)
Hd & fae B, 9@ A |
(a 16V b) -116V
(c) 2:04V (d) 124V
56/1/2 2> 2



General Instructions :

Read the following instructions carefully and strictly follow them :

(i) This question paper contains 35 questions. All questions are compulsory.

(it)  This question paper is divided into five Sections — A, B, C, D and E.

(iti) In Section A — Questions no. 1 to 18 are multiple choice (MCQ) type questions,
carrying 1 mark each.

(iv) In Section B — Questions no. 19 to 25 very short answer (VSA) type questions,
carrying 2 marks each.

(v)  In Section C - Questions no. 26 to 30 are short answer (SA) type questions,
carrying 3 marks each.

(vi) In Section D - Questions no. 31 and 32 are case-based questions carrying
4 marks each.

(vii) In Section E — Questions no. 33 to 35 are long answer (LA) type questions
carrying 5 marks each.

(viii) There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
2 questions in Section E.

(ix)  Use of calculators is not allowed.

SECTION A

Questions no. 1 to 18 are Multiple Choice (MCQ) type Questions, carrying

1 mark each. 18x1=18

1. An o-helix is a structural feature of :
(a)  Sucrose (b)  Starch
(c) Polypeptides (d) Nucleotides

2. The glycosidic linkage involved in linking the glucose units in amylase
part of starch is :
(a) C;—-Cg alinkage (b)  C;—Cg B linkage
(c) C;—-C, alinkage (d  C;-Cy B linkage

3. Ag*(aq)+e —— Ag(s) E°=+080V
Fe?t (aq) + 26 — > Fe(s) E°=-044V
Find the E::ell for :
Fe (s) + 2Ag* (aq) —— Fe?* (aq) + 2Ag (s)
(a) 16V (b) -116V
(c) 2:04V d 124V

56/1/2 3> P.T.O.
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4. T Y Hild I AMAGRAT Sl 50% 01 g | 30 e 1A 8 | o e ko1

o B

(a) 25x10°3 min-! b) 275 x 10~% min—1

¢  1.25x 103 min-! @  231x10°2 min!
5. fefafad & 9 -9 9@ 8 gEhT 2 2

(a) (CH3)2NH (b) NH3

(c) QNH2 (@  (CHy),N

6.  Uceigicl H1eaH H NaOH 3R Bry % @19 CH;CONH,, 3AMHfshan sieh ol 2 :
(a) CH3COONa (b) CH3NH,

(c) CH3CH,Br (d CH3CH,NH,

7. @l R— OH + HCl — 2292, Rel + 1,0 # Yowiera 41 stfirfpemsfioran
1 WEl ShH 18 ?

(a) 1°<2°<3° b)) 1°>3°>2°
) 1°>2°>3° d 3>1">2°
8. ¥gahl AR UMl % AR oM HaRe % fau fefafed & @ #H-a
HUEET UIH JIE AT B 2
(a) U QI
(b)  Tewre # stawa

(c) oTSY T[d hl TUTETh ITaAT
(d)  FIUTHR Hl I

9.  3YUP AT aTcil TEI W & 9Tl ATl o FEL T Heshl H TS Higan
T 89 1 T 2 -
(a) 3= IGHSAE T
(b) T am

c) T argHed™ T@

(d) = AW iR 3= IgHSAE T gl

56/1/2 < 4>

.



4, A first order reaction takes 30 minutes for 50% completion. The value of
rate constant k would be :

(a) 25x10"2 min~1 (b) 275 x 10~* min-1

(¢) 1.25x 1072 min-1 (d 231 x 10> min-1
5. Which of the following is least basic ?

(a) (CH3)2NH (b) NH3

(c) @NH2 (@  (CHy),N

6. CH3CONHj; on reaction with NaOH and Brg in alcoholic medium gives :

(a) CH3COONa (b) CH3NH,
(C) CchHzBr (d) CchHzNHz

7. In the reaction R — OH + HCl Zn—Clg) RCl + Hy0O, what is the correct

order of reactivity of alcohol ?

(a) 1°<2°<3° b)) 1°>3°>2°
c) 1°>2°>3° d 3>1">2°
8. The colligative property used for the determination of molar mass of

polymers and proteins is :
(a)  Osmotic pressure
(b)  Depression in freezing point
(c) Relative lowering in vapour pressure
(d)  Elevation is boiling point
9. Low concentration of oxygen in the blood and tissues of people living at
high altitude is due to :
(a)  high atmospheric pressure
(b)  low temperature
(c) low atmospheric pressure

(d)  both low temperature and high atmospheric pressure

56/1/2 <5 > B P.T.O.



10. fr=fafga 3@ 9 SH-a1 3k 9 gurfad gar 2 2

(a) AH (b) AG
© E, d AS

11.  Fifie [Co(SO,) (NHj)s] Br R [Co(Br) (NHy)s] SO, F&MUd td & :
(a)  YIul GHEIS (b) gt FEIEIEAT
(c) HIYAA HHTII ] (d) dHHSH.q\NH NEIEREL]

12. Ufeshal FI3TNISS 1 TN Ted 7T aig d Ted okl SITaT ® -

(a) b gAhi A (b) TETeS fHfshar @

(c) Hearr afyfsean 9 d) fheraeds srfufsrn @
13. AHIze hl Taiferes HH 3 TR TTerEehtur STa<er 2 -

(a) +2 (b) +3

(c) +4 (d) + 6
14. Hy(g)+ Cly(g) —2 5 2HCl (g) % forg sififsran ke 2 -

(a) 2 (b) 1

(c) 0 d 3

97 @&IT 15 @ 18 & (10, 31 %97 130 710 § — G79 ve &1 Af9saT (A) aar
gt &1 FROT (R) GRT 3ifaha a1 a7 § | 37 991 & @gl I 414 137 77 *ist
(a), (b), (c) 371T(d) & @ gaahe FT |

(a) AMMHAT (A) 3T SR (R) T Tl & W SR (R), AR (A) I
g ST LT 2 |

(b)  SAfTHA (A) 3T SR (R) THI T&l &, T RV (R), AMHT (A) H
& U gt il g |

(c) INMHAT (A) HEl B, Trg ST (R) TAd 7 |
(d) 37w (A) TeId 8, 9 RO (R) TE 7 |

15.  S7YHY7 (A) : S @@ 7 (CoHy)gN 3l 3198 (CoHy),NH i &Rk

2 |
HRU(R):  (CoHL)N hl 31uar (C,HL),NH H e Bifaw smen wa +1
JHE 2 |
56/1/2 <6 > 2



10.

11.

12.

13.

14.

Which of the following is affected by catalyst ?
(a) AH (b) AG
(c) E (d AS

a

The compounds [Co(SO,4) (NH3)5] Br and [Co(Br) (NH3)5] SO4 represent :

(a)  optical isomerism (b)  linkage isomerism

(c) ionisation isomerism (d) coordination isomerism

The synthesis of alkyl fluoride is best obtained from :
(a)  Free radicals (b)  Swartz reaction

(c) Sandmeyer reaction (d)  Finkelstein reaction

The most common and stable oxidation state of a Lanthanoid is :
(a) + 2 (b) +3
(c) +4 (d) +6

The order of the reaction
H, () + Cly (g) —2¥ 2HCI (g) is :

(a) 2 (b)y 1
(c) 0 d 3

For Questions number 15 to 18, two statements are given — one labelled as
Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (a), (b), (c) and (d) as given below.

15.

56/1/2

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.

Assertion (A) : (CoHg)oNH is more basic than (CyHg)sN in aqueous

solution.
Reason (R): In (CyHjs)oNH, there is more steric hindrance and +I
effect than (CoHjg)sN.

<l7>

P.T.O.
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16.

17.

18.

19.

20.

21.

22,

56/1/2

39HIT (A) : AR Hy, + Bry — 2HBr H 3TGhdT 2 Tdid Bidl @ |
HRU(R): & §s MAHH AMGRAT H TRIRRERT < &1 39 9 0d & |
STYHIT (A) : UeH o THIeHA & Tohdt foedTiud 3cd1g &-aT & |

HRI(R):  —NHCOCH; 998 1 Gishavl Y9TE UHHI &g | 31ferk Bl
2 |

371FeT (A) : EDTA Ja &1 HhaRal FHyier & o T gian 2 |
HRU(R):  EDTAT@EqR fore 2 |

Qs 9

200 g I ¥ 10 g 3ramaRfial foo™ =ietet Ueh foee s=m=m T | 308 K W

ST a7 € 31-84 mm Hg 2 | foeta &1 dier geaam ufterfera Shife | 2
(308 KW Y[g A <1 989 & = 32 mm Hg)
89 § e hifu 1+1=2

(%) i Affshan
(@) tfsue Sfcrss Ty

faferiaa & fow s difm . 2x1=2

(%) Mn3+/Mn2*+ JW & f9C E° &1 A1 Cr3+/Cr2*+ M 7UdT Fedt/Fe2+ JW
o HMI § Fga (e G BT 3 |

(@) fr=fefaa wfiertr =1 qof Fife .
2MnO; + 16H + 5C,0, —>

(%) T foEgq-sTaee ‘A’ 3 B’ & TR HH W, ‘A’ A, 25 TAT @t
g SEih B 1-5 TAT dgcl 8 | 390 | -1 {Igq-s1uees g 8 ?

7 3 1 gfte 3 forw o wf | 2

AT

(@) 005 mol L™ NaOH foree & whic w1 feorega gfalier 5:55 x 103 ohm
2 | 3HR AE 1 cm U9 AR 50 cm @ | SEeh <Tciehdl 1 Iieha

i | 2

.



16.

17.

18.

19.

20.

21.

22,

56/1/2

Assertion (A) : The molecularity of the reaction H, + Bro —— 2HBr

appears to be 2.

Reason (R): Two molecules of the reactants are involved in the given
elementary reaction.

Assertion (A) : Acetylation of aniline gives a monosubstituted product.
Reason (R): Activating effect of —NHCOCHg group is more than that
of amino group.

Assertion (A) : EDTA is used to determine hardness of water.
Reason (R): EDTA is a bidentate ligand.

SECTION B

A solution is prepared by dissolving 10 g of non-volatile solute in 200 g of
water. It has a vapour pressure of 31-84 mm Hg at 308 K. Calculate the
molar mass of the solute.

(Vapour pressure of pure water at 308 K = 32 mm Hg) 2

Explain briefly : 1+1=2
(a) Carbylamine reaction
(b) Gabriel phthalimide synthesis

How would you account for : 2x1=2
(a) The E° value for the Mn3*/Mn2* couple is much more positive than
that for Cr3+/Cr2+ couple or Fe3+/Fe2* couple.

(b) Complete the following equation :
2MnO, + 16H" + 50205 >

(a) On diluting two electrolytes ‘A’ and ‘B’, the A, of ‘A’ increases
25 times while that of ‘B’ increases by 1-5 times. Which of the two

electrolytes is strong ? Justify your answer graphically. 2

OR

(b) The electrical resistance of a column of 0-05 mol L_1 NaOH solution

of diameter 1 cm and length 50 cm is 5-55 x 10 ohm. Calculate the
conductivity. 2

<9 > s P.T.O.



23.

24.

25.

26.

56/1/2

() TfcRaa ifufshanai < 3Icamgl i ITfe ShIfT - 2x1=2
() CHyCH,0H —SW273K |

(i) CqH,OH 220 |

e
(@) F=fafea & foe sro dfe . 2x1=2
(i)  p-AfUTERTa 6 AT p-ARHHTA 3Tfeeh e BT & |
(i) NaOCHj; % |19 3TlRAT i W (CHy)5C — Br 48 391G

9 H VeshA <ar & 7 foh $or |
(%) CHy—CH-CHy 5 , 0 AN, g
|
OH
(@) CHZCH,CH,CIl+ KOH TR, _HBr |
30T JUTRATIT H ‘A’ 3R ‘B’ I 4g=TT | 1+1=2

e o ToRhdTRiuT ol TRATNT hIfTT | WIEA s T 9T faehd et 1 Rl
LRI 2

Qug
ERURAIS I Ix1=3

(%) WAl AR agciehl 8 JEQUS % HIGK GIHM YR A o g
T g <ht A fafer ot e € St 2 |

(@) e FiforE @ fofe T St S g § 38 I § TET AT STHEES
BT 2 |

(M) 1M 3k faem & gt # 1 M KCl foe=m & Fa9[Teh 1 3a9H T

AT A1 2 |

.



23.

24.

25.

26.

56/1/2

(a)

(b)

(a)

(b)

Predict the products of the following reactions : 2x1=2

() CHyCH,0H —Sw273K |

(i) CqH,OH 2@ |

OR
Give reasons for the following : 2x1=2

(i)  p-nitrophenol is more acidic than p-methylphenol.
(i1) (CHg)3C — Br on reaction with NaOCHg gives alkene as the

main product and not an ether.

CHy— CH-CHy — Y95, qr AN |

|
OH

CH,CH,CH,Cl + KOH —¢thanol o, HBr g
Identify ‘A’ and ‘B’ in the above reactions. 1+1=2

Define denaturation of protein. What is the effect of denaturation on the
structure of protein ? 2

SECTION C

Give reason : 3x1=3

(a)

(b)

(c)

Measurement of osmotic pressure method is preferred for the
determination of molar masses of macromolecules such as proteins

and polymers.

Aquatic animals are more comfortable in cold water than in warm
water.

Elevation of boiling point of 1 M KCl solution is nearly double than
that of 1 M sugar solution.

<ar>

P.T.O.
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27.

28.

29.

30.

56/1/2

forefifea sifframd qof Hifv - 11+1§=3

2

(%) CHyCH,CH,Br ';'g'sAi'KOH> &) 225 (B)

SO
(@) A)——

Na/seR
Cl, (B) / H
\ NaOCHS . Q-ﬁ - ﬁ FE

a1y frefaRea s &8 &3 : (5 77) 3x1=3
(%) $HIA U 2 TR SETES
(@) Ve 8 2-ReTauE A
(M) A § weE-2-3TE
(9) UHTA § U
(%) () e, (ii) HTeeE % TA-TTEH & 31 T & 2
(@) ¥ AR AGAE o 7L YA G I G | 3
(%) AR HIT F41 3x1=3
(i)  SwAigeh T | Haieds aug Her fHewes g g |
(i) UfcegEel IR HeHl & INsh o fou Aifeam SgHehse T
fopam ST 2 |
(iii) HETFATS T, HEA TYE hl AT ANRATE T
e
T
(@) TH FElH A A Seh TET C;HgO 8, 573 KW Cu % 1Y
AMTRRE E | B’ <1 8 | B Biel faoad i Mfad T8+l 8
dfehT 1,/ NaOH % @19 Aifires ¢’ &1 fiaT 37a89 a1 2 | A, B 3R C
ATt 1 e it | 3
<ld12> 2



27.

28.

29.

30.

56/1/2

Complete the following reactions : 1 1 +1 é =3

2

(a) CHyCH,CHyBr 21O, () B, ()

Na/Ether

> (C
cly / (C)

SO
(b) (A) —(B)
H
\ NaOCH, > 2-Methoxypropane
How do you convert the following : (Any three) 3x1=3

(a) Phenol to 2-Hydroxybenzaldehyde
(b)  Anisole to 2-Methoxyacetophenone
(c) Propene to Propan-2-ol

(d) Ethanol to Ethanal

(a) What are the hydrolysis products of (i) Lactose, (ii) Maltose ?

(b) Give the basic structural difference between starch and cellulose. 3

(a) Explain why : 3x1=3
(i)  Carboxyl group in benzoic acid is meta directing.
(ii) Sodium bisulphite is used for the purification of aldehydes and
ketones.
(iii) Carboxylic acids do not give characteristic reactions of
carbonyl group.

OR

(b) An organic compound ‘A’, having the molecular formula C3HgO on

treatment with Cu at 573 K, gives ‘B’. ‘B’ does not reduce Fehling’s

solution but gives a yellow precipitate of the compound ‘C’ with
I,/NaOH. Deduce the structures of A, B and C. 3

P.T.O.
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Qus ¥

HET1eTIGT 97 Sa-3TERT 397 & | 4 H1 TEaErH1gas 7160 37K 15T TT J949] & I
L

31. 3YHGHIANH IRl H GTqe qf YhR hl TAShar, Tt TR fgdiaeh, Jeiia
HAT 3 | AT TAISThdd AT BT & 9T SROMcHeh TR A=A g
Tqee Bl 8 | fgdiae gaierehde 3-SR gt 8 3T Uehreh! Soidgi I
Ik G IS RUTcHe T gRI TS BT @ | TTefieh FASThamd AfSRmeh
Bt & ok fge e HAShaTe Tl i 3Thfd fgifa et & |

(i) IR PtCly . 2NHg, AgNOg o T ATAGRAT T8 Hal 8, al ST O

T g 2 1
(i)  [Co(en)g]3+ sl Taciereh TSR =T 8 ? 1
(i) (1) STREEII)FEEHERE(ID) %1 ¥ fafe |
(2)  [Co(NH3)sCl] Cly o 315.q 4.0, 9% feifien | 2x1=2
AT
(i)  [Ni(CN)]?" =l Gehtul Td raehiy sqag foaflgu | 2

[GRHTY] |&AT : Ni = 28]

32.  SATTSRAT T, SIS TWI H STIHRRHI hl AIgdl e AT IcUGI hl AgdT Jhg
T Hafyd grar 3 | 39 foelt &ror fomiy o arcafores o o w9 W ST foelt i
T 31U § SftEa o o wehfa fkm S weRar 7 | ifufseen A & wifvrd
feuur =t o fram wEd 2 | 9 e wa stfufsan S wife @ fuftor an
o S7eran AHTeRfTd o |HISRTOT gRT L Tehd ® |

56/1/2
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SECTION D

The following questions are case-based questions. Read the case carefully and
answer the questions that follow.

31. In coordination compounds, metals show two types of linkages, primary
and secondary. Primary valencies are ionisable and are satisfied by
negatively charged ions. Secondary valencies are
non-ionisable and are satisfied by neutral or negative ions having lone
pair of electrons. Primary valencies are non-directional while secondary

valencies decide the shape of the complexes.

(1) If PtCly . 2NH3 does not react with AgNOg3, what will be its

formula ? 1

(i1)  What is the secondary valency of [Co(en)3]3+ ? 1

(i) (1) Write the formula of Iron(III)hexacyanidoferrate(II).

(2) Write the IUPAC name of [Co(NH3)5Cl] Cls. 2x1=2
OR
(iii) Write the hybridization and magnetic behaviour of [Ni(CN)y] 2-, 2

[Atomic number : Ni = 28]

32. The rate of reaction is concerned with decrease in concentration of
reactants or increase in the concentration of products per unit time. It
can be expressed as instantaneous rate at a particular instant of time
and average rate over a large interval of time. Mathematical
representation of rate of reaction is given by rate law. Rate constant and
order of a reaction can be determined from rate law or its integrated rate

equation.

56/1/2 <15 >
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33.

34.
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1)

3Tted Affsham o a1 BT 8 2 1

(i) < %k faRge st Afufshan it g i g9Tfad *Hd 2 | 1
(i) (1) I ohife <t Afufshan o forw stfirfsram o vt o= g g 2
(2) I il i TR o ToTU k i FhIE 1 8 2 2x1=2
HAAT
(i) (1) U AR P + 2Q — IE & forw & = k[P]V2 [Q]L 2 |
srfrfshan <A1 hife w1 2 2
(2) U 381 AlEd B0 YoM hife ATafshan =t aRarfya Shifvre | 2x1=2
Qs g
fafafaa T & fu sror @S 5x1=5

(1)

(i1)

(iii)

(iv)
(v)

GRHY wal sl 3d FU B W WS +7 S IAAH SATFEIRL ST
TERIA L 8 |

TR 9Tqe R Ik JAMfiTeh TEh AMAGRATSAT § AH=IG: 370
3T B 7 |

Cr2* 39T Yehld 1 & W&l 61 d-Hh&h fa=am8 (d%) 1 Mn3+ Th
TR 3 |

Zn Y HUH Tedt = il B |

el foerm ®§ Cut STEemrft gar 7 |

G)  Tafafegd sa=aon s gre Hif
(1) T ¥ 2-254-1-37
(2) TS A U 2-FANIIUATGH 3TFA

() CgHy, HET AT Th UoehA ISAHI-3T9e § &l ARl B’
3 ¢’ 1 usor T@m B | Aiffies B’ enTeAss Wiow qiieqor @
3R I, 991 NaOH foeam & a1 ot s1fufshan &tar 8 | Aifes ¢
hiem faerm wemr 78 gar ofer smeee ffda e 3 |
AR A%, B’ 3R ‘C’ I IgaTT | 2+3=5

AT

.



(i)  What is average rate of reaction ? 1
(11) Write two factors that affect the rate of reaction. 1

(iii) (1) What happens to rate of reaction for zero order reaction ?
(2) What is the unit of k for zero order reaction ? 2x1=2
OR

(1i1)) (1) For areaction P + 2Q —— Products
Rate = k[P]V2 [Q]l. What is the order of the reaction ?

(2) Define pseudo first order reaction with an example. 2x1=2
SECTION E
33. Assign reason for each of the following : 5x1=5

(i) Manganese exhibits the highest oxidation state of +7 among the 3d
series of transition elements.

(i1)) Transition metals and their compounds are generally found to be
good catalysts in chemical reactions.

(iii) Cr?* is reducing in nature while with the same d-orbital
configuration (d*) Mn3+ is an oxidising agent.
(iv) Zn has lowest enthalpy of atomization.

(v) Cutis unstable in an aqueous solution.

34. (a) (1) Carry out the following conversions :
(1) Ethanal to But-2-en-1-al

(2) Propanoic acid to 2-chloropropanoic acid

(i1)) An alkene with molecular formula Cs;H;, on ozonolysis gives
a mixture of two compounds ‘B’ and ‘C’. Compound ‘B’ gives
positive Fehling test and also reacts with iodine and NaOH
solution. Compound ‘C’ does not give Fehling solution test but

forms iodoform. Identify the compounds ‘A’, ‘B’ and ‘C’. 243=5

OR

56/1/2 7>
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1)

(i1)

(iii)

CH;COOH

(1)

(i)

(1)

(i1)

39gH TERHS &0 § fadg i :
(1) CH3COCH,CHj 3 CH3CH,CH,CHO

(2) WA 3T UIHTEH 3T+

THeH % Afferan st v fafee |
A¥ Dl UgTHT | 2+1+2=5
PCl5 s A Ho /Pd—BaS0O4 s B (i) CHg/MgBr , C
(i1) H3O+
lLiAIHLL
D

HARAl o Wad I &1 shioey m fafey | sy
oM o AR Fa ada1 W UHifdh 3T shi A =Teiehal <
o = fafm |
208 K W & T fufspn & faw eifeepan &Rt 3R log K,
qRERieTd I

Ni (s) + 2Ag+ (aq) = NiZ' (aq) + 2Ag (s)

fem mn R B2t == 025V, EAg+/Ag =+0-80V
1F = 96500 C mol ™ 2+43=5
HAAT

B o fagq-31aded &1 yom fom fafew | 191 Cu2* i Cu
0 UERE e & fou SU2 & uel d fordar @ A
BT ?

298 K W ffdifgd ¥« 1 fogd-aes 9@ (emf) TRehicta

Mg (s) | Mg2* (0-1 M) || Cu2* (0-01 M) | Cu (s)

(B3 =+271V, 1F=96500C mol™}, log 10 = 1] 243=5
[w £ [=]
=y
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(b)

(a)

(b)

(1)

(i1)

Distinguish with a suitable chemical test :

(1) CH3COCH20H3 and CchHQCHQCHO

(2) Ethanal and Ethanoic acid

Write the structure of oxime of acetone.

(iii) Identify A to D. 941495
CHyCOOH —FC5_, o _ Ha/Pd-BaS04 g ﬁﬂii’MgB , C
lLiAlH4
D

(1)

(i1)

(1)

(i1)

State Kohlrausch’s law of independent migration of ions.
Write an expression for the molar conductivity of acetic acid

at infinite dilution according to Kohlrausch’s law.

Calculate the maximum work and log K. for the given

reaction at 298 K :

Ni (s) + 2Ag+ (aq) = NiZ' (aq) + 2Ag (s)

Given : ENi2+ N 0:25V, EAg+/Ag =+0:80V
1F =96500 C mol ™ 2+3=5
OR

State Faraday’s first law of electrolysis. How much charge, in
terms of Faraday, is required for the reduction of 1 mol Cu?*

to Cu ?

Calculate emf of the following cell at 298 K for

Mg (s) | Mg2* (0-1 M) || Cu2* (0-01 M) |Cu (s)

[Ecey =+ 271V, 1F=96500C mol}, log 10 = 1] 2+3=5

¥
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1T [A397:

FloTRea 339 1 T5a Fraer] & 9igT ik 37T ] & gIer Hr

(i) 3T ¥T-77 935 J97 & | @4t 397 A4t & |

(i) TEIH-97GId @USI 4 f[a9iflsid 8 -a&, @, T, 909 & /

(iti) WUE & H 97 &I 1 T 18 7% Tglashcdid J#R & Uh-Ueh 3% & Jo7 & |

(iv) WU @G Fo7 G&I1 19 T 25 a% 37l TY-370F FHR & F1-31 3H & F7 8 |

(v) @Y TH F77 G 26 & 30 TF TY-FHIT IR & diA-d17 3H & Fo7 & |

(vi) EUE g H 97 GBI 31 TUT 32 FH-3NMYTRT AR-TTR 37hl & I97 & |

(vii) VS T H Y97 &1 33 E 35 FIH-IRIT IHR & Gie-gier el & I & |

(viii) T99-97 H GHT fdheq 767 1397 737 & | FEf4, @vs @ & 2 Yo 5, @8 T & 2 ¥
4, @S 7 & 2 Yo 4 d97 @8 & & 2 ¥l § HaRke lahcq & JIEaenT 1397 a7
g1

(ix) Sepact 1 39N afsdd & |

«us

597 G&IT 1 & 18 T TEIAHcYIT JhR & Uah-U 7% & Jo7 & | 18x1=18

1. %Y A9 R FHHIH FANES B 9 H e R 1 foe=d g |/ 381 319d
gl & | f=faiaa 9 @ fora aftfeafa o sau sifes digar & gorm 2

(a) 3s 9 H FfUla F&u
(b) TH @ ¥ Ffold daq

(¢) 38 I H AdY < fsheed

(d) TH I U A9 & TshEed

2. TUATS MHad MHEAREd H § fhashl gig % HROT BT 7 ?
(a)  WRHIY] H&AT
(b)  4f SoiergiAT gRT e
(c)  SHTE AR AT

(d) T e
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General Instructions :

Read the following instructions carefully and strictly follow them :

(i) This question paper contains 35 questions. All questions are compulsory.

(it)  This question paper is divided into five Sections — A, B, C, D and E.

(iti) In Section A — Questions no. 1 to 18 are multiple choice (MCQ) type questions,
carrying 1 mark each.

(iv) In Section B - Questions no. 19 to 25 very short answer (VSA) type questions,
carrying 2 marks each.

(v)  In Section C - Questions no. 26 to 30 are short answer (SA) type questions,
carrying 3 marks each.

(vi) In Section D - Questions no. 31 and 32 are case-based questions carrying
4 marks each.

(vii) In Section E — Questions no. 33 to 35 are long answer (LA) type questions
carrying 5 marks each.

(viii) There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
2 questions in Section E.

(ix)  Use of calculators is not allowed.

SECTION A

Questions no. 1 to 18 are Multiple Choice (MCQ) type Questions, carrying

1 mark each. 18x1=18

1. On dissolving ammonium chloride in water at room temperature, the

56/1/3

solution feels cool to touch. Under which of the following conditions does
salt dissolve faster ?

(a) Powdered salt in cold water
(b)  Powdered salt in hot water
(c) Salt crystals in cold water
(d)  Salt crystals in hot water

Lanthanoid contraction is due to increase in :
(a) atomic number

(b)  shielding by 4f electrons

(c) effective nuclear charge

(d)  atomic radius

P.T.O.
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3.  Ucshigicll H1egH H NaOH 3R Br, % @19 CH3;CONH,, A5t shteh aT & -
(a) CH3COONa (b) CH3NH,
(0  CH3CHyBr (d CH3CHyNH,

4. sl R— OH + HCl —22Y2 , Rl + 1,0 # Yewera 1 sifufamefie
1 HEl S FA1 8 ?

(a) 1°<2°<3° b)) 1°>3°>2°
(c) 1°>2°>3° @ 3>1">2°
5. Ak [Co(SO4) (NHg)s] Br 3 [Co(Br) (NHs)s] SO, F&fUd id 2 :
(a) YUl GHIEIS (b)  SEH THEIE
(¢c) ST THTEIE (@) SUHEEIISH SHTEFad
6. Tmfiga # @ -9 9s9 7 aRHT 7§ ?
(a) (CH3)2NH (b) NH3

@ NH, @  (CHy),N

7. W % Vol 92 H I IhISAl i Siied o [T AFfeld g Tgs! 99

2

(a) C;-Cg a¥¥ () C,;-Cqz BT

(c) C;-C4 o 9 (d) C;-C, Ba‘a
8. H,(g)+Cly(g) —¥ 2HCI(g) % foru stfirfsean wife §

(a) 2 (b) 1

(c) 0 (d)
9. fam=fafiga & S 9 31mshay @ ellcfﬂ i B

o, 2, @
(a) CI” AlCl;
(©  AClL @ CIf
[=#[=
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CH3CONH; on reaction with NaOH and Brg in alcoholic medium gives :

(a) CH;COONa (b) CH3NH,
(C) CH3CH2BI’ (d) CH3CH2NH2
ZnClgy

In the reaction R — OH + HCl ————=— RCI + H,0, what is the correct
order of reactivity of alcohol ?

(a) 1°<2°<3° b)) 1°>3°>2°

) 1°>2°>3° d 38>1>2°

The compounds [Co(SO,4) (NH3)5] Br and [Co(Br) (NH3)5] SO, represent :
(a)  optical isomerism (b)  linkage isomerism

(c) ionisation isomerism (d)  coordination isomerism

Which of the following is least basic ?

(a) (CHjg)yNH (b)  NH;4

(c) @—NH2 (@  (CHy),N

The glycosidic linkage involved in linking the glucose units in amylase
part of starch is :

(a) C;—-Cg alinkage (b)  C;—Cg B linkage
(c) C,;-C, alinkage (d  C;-C, B linkage
The order of the reaction

H, () + Cly (g) —2¥ 2HCI (g) is :

(a) 2 by 1
(c) 0 (d 3

The species that attacks benzene in following is :

Cl
AICIg
+Cly —3>
(b)

(a) CI” AICT,

N

(©  AlCl, @ o

<5>
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10. A9ise <hl Gaifes 9 3 TR STl 3Teae @
(a) + 2 (b) + 3
(c) +4 (d) + 6

11. frafaRea srfufsean & fore w& o fewo 2
Zn + 2Ag* — > Zn?* + 2Ag
(a) 2Ag| Ag* |l Zn | Zn?*
(b) Ag* | Ag |l Zn?* | Zn
(¢ Agl Agtll Zn | Zn?*
(d Znl Zn?* || Agt | Ag

12. Ush &od: Yafdd AfufRar & f&u AG 3R Eﬁ?f KU

(a)  GdTcHh, RUTcHb (b)  RUIIcHeh, RUTTcHSh

(¢c)  =RUTcH, GdTcHSD (d)  YdTcH, 9dTcHSD
13. Fafafgd 4 9 SiH-91 I 4 guifad gid1 & ?

(a) AH (b) AG

e E, (d) AS
14. f=afafea o 9 w9 sru=r whu R 2

(a) ¥ (b) Hed

() T d R

97 @&IT 15 @ 18 & (70, 31 %97 130 70 § — G74 vek &1 Af9asaT (A) aar
gt &1 HROT (R) GRT Sifaha a7 147 § | 37 991 & @gl I 414 150 710 #ist
(@), (b), (c) R (d) & & g7 FHTT |

(a) 3P (A) 3 SR (R) THT Tal & 3 SR (R), AR (A) hHI
g ST LAl 2 |

(b)  SAfTHAA (A) 3T HRU (R) THI T&l &, T BRI (R), AMMHT (A) i
e AT 7T S § |

() MR (A) W&l 8, T H1O (R) T4 2 |
d) frpad (A) A 8, T SRV (R) T 2 |

56/1/3 <6 >
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10.

11.

12.

13.

14.

The most common and stable oxidation state of a Lanthanoid is :
(a) +2 (b) +3
(c) +4 (d) +6

The correct cell to represent the following reaction is :

Zn + 2Agt — > Zn2* + 2Ag
(a) 2Ag| Ag* |l Zn | Zn?*
(b) Agt| Agll Zn?** | Zn
(¢) Agl Ag*ll Zn | Zn?*
(d Znl Zn?** || Agt | Ag

o

AG and E ) for a spontaneous reaction will be :
(a)  positive, negative (b)  negative, negative
(c) negative, positive (d)  positive, positive

Which of the following is affected by catalyst ?
(a) AH (b) AG
(c) E (d AS

a

Which of the following is a non-reducing sugar ?
(a) Sucrose (b) Maltose
(¢) Glucose (d) Lactose

For Questions number 15 to 18, two statements are given — one labelled as
Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (a), (b), (c¢) and (d) as given below.

56/1/3

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

<l7>
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15.

16.

17.

18.

19.

20.

21.

56/1/3

BT (A) : qg WAWw THHI & fomm & fow Uora gamsel &

UHT-37TEe Th 39geh fafer 781 2 |

FRU(R):  Ufcshal gallgel o UHMI-TTEH & geIa: fgdiaes Ui urea g

7 |

S4BT (A) : AWHA Hy, + Br,, —— 2HBr # 3T{Ueehdl 2 Wdid gl & |
HRU(R): & §s MAHH AMMRAT H TRIRRERT o &1 39 9 Id & |
STYHYT (A) : T T=RYT IATheThld el okl & <@ 91d 3 |

PRI (R):  IEEADT Tpall o (0 JHT SHoff i ol d fohkea &

fargre ot | Bt § |

S7fYHYT (A) : UHAH o THifea & T Ufaeenfud Icute s=4aT1 3 |
HRI(R):  —NHCOCH; GYg 1 ®fshavl Y9G UHH! &g & 3 Bial

g |

Qs @

T qEEE Gl faRaw, I8 g@iH % fae f6 D-eeE &l foga
G H ] TEe Bl 3 |

M & 4t & U forg gopR =1 99 Ioter giar @ 2 2
25°C T 8 AHfRAT & fow A G° ufrfora il 2
7n | Zn2+ || cd®" | cd

fem w2 . E, 2., ==076V, E_ o, . =040V

1 F = 96500 C mol ™

srET
0-05 mol L™! NaOH forer & shiem o1 faga ufadigr 5:55 x 103 ohm
2 | SH%H FE 1 cm Ud AT 50 cm & | SHh! ATciehdl Rl Yiehal
Hifsr | 2
fafafga & o s & . 1+1=2

(i)  Ucohlgial i ol H HHIA AT Tt 30 BT & |
(i) UcehIgial o FAUHTH Ufcehd *T@AT H 5@ Se- % a9 Hed 7 |

AT

.



15.

16.

17.

18.

19.

20.

21.

56/1/3

Assertion (A) : Ammonolysis of alkyl halides is not a suitable method for

the preparation of pure primary amines.

Reason (R): Ammonolysis of alkyl halides yields mainly secondary

amines.

Assertion (A) : The molecularity of the reaction Hy + Brg —— 2HBr

appears to be 2.

Reason (R): Two molecules of the reactants are involved in the given

elementary reaction.

Assertion (A) : Low spin tetrahedral complexes are rarely observed.

Reason (R):  Crystal field splitting energy is less than pairing energy

for tetrahedral complexes.

Assertion (A) : Acetylation of aniline gives a monosubstituted product.
Reason (R):  Activating effect of —NHCOCHg group is more than that

(a)

(b)
(a)

(b)

(a)

of amino group.

SECTION B

Write chemical reaction to show that open structure of D-glucose
contains the straight chain.

What type of linkage is responsible for the formation of protein ? 2
Calculate ArGO for the cell reaction at 25°C :

7n | Zn2* || ca®* | cd

o

Given that : EZn2+/Zn =—0-76V, ECd2+/Cd =040V
1F =96500 C mol
OR

The electrical resistance of a column of 0-05 mol L' NaOH solution
of diameter 1 cm and length 50 cm is 5-55 x 10° ohm. Calculate the
conductivity. 2

Account for the following : 1+1=2
(i)  Phenol is a stronger acid than an alcohol.
(ii)) The boiling point of alcohols decreases with increase in
branching of alkyl chain.
OR

P.T.O.
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(@) () Teldiad sAfufseen 1 fsrafafy fafex

+
CH,CH,0H —~ > CH, = CH, + H,0
443K

(i) U fsrfsran ® gftfaq gt fafay |

22, H&I 3G g 9
(%) n-SCA FANEES hl Uehigicll KOH o A1 SRR foram STam 2 |

NAN A

(@) 2,4,6-TEATSIFARIS S Sl TA-3TTEH BT 3 |

23. fmfciiaa aefteRtor =i qui shife
(%) 2MnO, + 5NO, +6H" ——

(@) CQO?_+Lﬂf+6€H——9

24. (%) TrAfaRad sEfe Qe &1 R g 9., am fafaw
CH; — N — CH,CHgq

(@) fmfaRed =t Qi T

25. I 9 1 7 2 3ER1 T AN SN |
wus 1

26. Tifia g 3camg fotfau o«
(%) WiUA FARSS B Nal/THRH & A1 AGRRa fohen ST 2 |

(@) 2,4,6-CEATEIFARISSIA T SA-Tq=e foha Srar 7 |

(M) n-FYRT FARTES HI Yewhlarelt KOH & a9 1fufspRa foram st 7 |
56/1/3 Ej_lil

1+1=2

2x1=2

1+1=2

2x1=2

3Ix1=3



(b) (i)  Write the mechanism of the following reaction :
+
CH,CH,0H —~ > CH, = CH, + H,0
443 K
(i1) Write the equation involved in Reimer-Tiemann reaction.

22. Write the main product formed when :

(a) n-Butyl chloride is treated with alc. KOH.

(b)  2,4,6-Trinitrochlorobenzene is subjected to hydrolysis.

23. Complete the following equations :

(@)  2MnO, + 5NO, +6H ——

(b)  Crg0- +14H'+6e" — >

24, (a) Write the IUPAC name for the following organic compounds :
CHg - N - CH,CHg

(b) Complete the following :

Sn/HCl _ , Bry/H0 g

CH5NO,

25. What is Henry’s law ? Give one application of it.

SECTION C

26. Write main product formed when :
(a) Methyl chloride is treated with Nal/Acetone.
(b) 2,4,6-trinitrochlorobenzene is subjected to hydrolysis.

(c) n-Butyl chloride is treated with alcoholic KOH.

56/1/3 11>
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1+1=2

2x1=2

1+1=2

2x1=2

3x1=3
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27. Y fF=faRaa wurator 8 T w3 (s 77) 3x1=3

%) HHA d fUlheh o
) WA ® 2-AfeTIe-2-31 e
) HHE § U

) W " 9E-1-37d

28. () ey faerm 3 ey foerm & ey o fofau |

(@) 846 g¥d | 30 g AT =T TAT g | AC 298 K R g el hl 917 T
23-8 mm Hg #, dI 39 faetam & fou it st oy g« yftesfora shifre | 3

29. (%) SARAT HINTC F4 3x1=3
(i)  Sigeh A H HEiFae 98 Hel FHeweh g g |
(i) Ufcegsel 3R HlTHl o TiEHl & T Aifeqd dTgac®se TIh

foran ST 2
(iii) ~rElfFdfeTsh T, HEia T8 H dAfaafoes sfuframd T8
a8 |
ST
(@) Feafafaa safufseeet & foae memfs g dfw . 3x1=3

(i)  WIUAH 1 ] Ba(OH), % A1 fufshlia foram Sram 2 |
i) UEHEEHE i Zn(Hg)ydig HCL % @ tfufssia fran smar 2 |

(iti)  Pd-BaSO, i Ul # ST FARIES 1 FEGISAA fohAT ST
g |

30. (%) 3cIC I AW ARG 51§ D-Iehid, |15 HNO, & &1 ATHfshar it 2 |

(@) U 3T IWEHT S¥aER e & | & 2

(M) WA H o-FfAF AR p-refies TEAT o TET Teh I fAfEu | 3x1=3
56/1/3 12> 2



27.

28.

29.

30.

56/1/3

How do you convert the following : (Any three) 3x1=3

(a)
(b)
(c)
(d)

(a)
(b)

(a)

(b)

(a)

(b)
(c)

Phenol to picric acid
Propanone to 2-Methylpropan-2-ol
Phenol to anisole

Propene to Propan-1-ol

Differentiate between Ideal solution and Non-ideal solution.

30 g of urea is dissolved in 846 g of water. Calculate the vapour

pressure of water for this solution if vapour pressure of pure water
at 298 K is 23-8 mm Hg. 3

Explain why : 3x1=3
(i)  Carboxyl group in benzoic acid is meta directing.

(ii) Sodium bisulphite is used for the purification of aldehydes and
ketones.

(iii) Carboxylic acids do not give characteristic reactions of
carbonyl group.

OR

Give chemical equation for the following reactions : 3x1=3
(i)  Propanone is treated with dil. Ba(OH),,.
(i1) Acetophenone is treated with Zn(Hg)/Conc. HCI.

(ii1) Benzoyl chloride is hydrogenated in presence of Pd-BaSO,.

Write the product when D-glucose reacts with conc. HNOg.

Amino acids show amphoteric behaviour. Why ?

Write one difference between o-helix and B-pleated structure of
protein. 3Ix1=3

P.T.O.
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Qus ¥

RETfTIa 97 &q-STERa 397 & | &4 & TEaaHigas 9igq 3K 13T 10 394 & ITN
TG |

31.  SHfhaT o1, SIS THA H SAMRIGRI <hl TGl Te- AT IcdTel hl Higdl gfg
T TEfd grar 8 | 38 Tt e fomiy w areafores o 6 w9 A 3R feRelt
U A § 3Ed o W YgRid fRam S gehar ® | afufskan am & wifurd
& &1 a1 M Ed § | 9 feores wa eifufsean i wife @1 fgior am
frm S19en auTeRfar o TRl gRT o dehd & |

(i)  frEa AffshaT S o= giaT 8 ? 1
(i) <+ fafge S srfufshan 6t g 1 gurfad & 2 | 1
(iii) (1) S ohife <kt fwfshan o foru stfifshan o vt @ g & 2
(2) I hife < Afufshan o 7w k <ht 3oh1s T R 2 2x1=2
AUAT
i) (1) U AR P+ 2Q —— I & foaw am = k(P12 Q1 ? |
Fif¥yfspan &1 hife @ B 2

(2) Ueh 3SR Hied SeH TUW hife Afufshan 1 aftarfog il | 2x1=2

32. IUHEHANSH Afeni T GTqU g YR <hl TAISIhary, Tt iR fgdires, geiia
HA § | Al TR AT Bl 8 AT RO GG AT g
Tqse gt 8 | Tgdae Sasiehand 3H-3TR Bl § 3T TshIh! soiaei 3|
3k IQTEIA AT ROMcHSD AT G TS it & | TTATHeh FAShaTy, S(GRTeh
Bl g STk fgaiaeh HANhRATY el hl STTeh{d HETRG HLdl & |

(i) 9 PtCly . 2NHg, AgNOg & @1 Affshan &1 shear &, i 381 4
T BT 2 1

56/1/3
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SECTION D

The following questions are case-based questions. Read the case carefully and

answer the questions that follow.

31. The rate of reaction is concerned with decrease in concentration of
reactants or increase in the concentration of products per unit time. It can
be expressed as instantaneous rate at a particular instant of time and
average rate over a large interval of time. Mathematical representation of
rate of reaction is given by rate law. Rate Constant and order of a reaction

can be determined from rate law or its integrated rate equation.
(i) What is average rate of reaction ? 1
(i1)) Write two factors that affect the rate of reaction. 1

(iii) (1) What happens to rate of reaction for zero order reaction ?
(2) What is the unit of k for zero order reaction ? 2x1=2
OR

(iii)) (1) For areaction P + 2Q —— Products
Rate = k[P]V2 [Q]1. What is the order of the reaction ?

(2) Define pseudo first order reaction with an example. 2x1=2

32. In coordination compounds, metals show two types of linkages, primary
and secondary. Primary valencies are ionisable and are satisfied by
negatively charged ions. Secondary valencies are non-ionisable and are
satisfied by neutral or negative ions having lone pair of electrons. Primary
valencies are non-directional while secondary valencies decide the shape

of the complexes.

(1) If PtCly.2NHg does not react with AgNOg, what will be its

formula ? 1

56/1/3 <15 >

P.T.O.
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(i)  [Co(en)s]3* & faciarer TASTehl T & ? 1
(i) (1) STREEJII)FEEHSRe(Il) % g fafaw |

(2)  [Co(NHj3):Cl] Cly %1 3715.9, 9.0 4 fafay | 2x1=2
Tt
(i) [Ni(CN)]%~ =l Gehlul Ud Jraehd =Jagn faflay | 2

[RHTY] & : Ni = 28]

Qs &

o

33. (&) () F=afaRed sawaen i ame i
(1) TS | 2-2-34-1-3TA

NN

(2) WUATEH A T 2-FAUINUATSeh 30

(i)  CzHy, S dTell Teh Urehld HAIWMI-SUE § 2 AMfEhi B’
3T ¢’ 1 Tazor a1 B | A B aeTeRss i wiemor <t @
3R I, 391 NaOH foeam & @y i stfufshan star g | Aifie ¢
hier faerm wemr 78 gar ofer smeiee ffda e 7 |
i ‘A%, ‘B’ 3R C’ I TgATHT | 2+3=5

Jrra
(@) () 3I9IH THEES e ¥ foaug Hife

(1) CH3COCH,CHj3 3R CH3CH,CH,CHO
(2) TS 3N VIS TR

(i) UHRER o Affean i g fafau |

(iii) A ¥ D @l UgaTT | 2+1+42=5
CH3COOH PCls , , _Hp/Pd-BaSO4 p (CHy/MgBr
(if) HyO0™
lLiAlHLL
D
56/1/3 2



33.

56/1/3

(a)

(b)

(ii)

(iii)

(iii)

(1)

(i1)

(1)

(i1)

What is the secondary valency of [Co(en)?)]3+ ? 1

(1) Write the formula of Iron(IIT)hexacyanidoferrate(II).
(2)  Write the IUPAC name of [Co(NH3)5Cl] Cls. 2x1=2

OR

Write the hybridization and magnetic behaviour of [Ni(CN)4] - 2
[Atomic number : Ni = 28]

SECTION E

Carry out the following conversions :

(1) Ethanal to But-2-en-1-al

(2) Propanoic acid to 2-chloropropanoic acid

An alkene with molecular formula CsH;, on ozonolysis gives
a mixture of two compounds ‘B’ and ‘C’. Compound ‘B’ gives
positive Fehling test and also reacts with iodine and NaOH
solution. Compound ‘C’ does not give Fehling solution test but

forms iodoform. Identify the compounds ‘A’, ‘B’ and ‘C’. 243=5
OR

Distinguish with a suitable chemical test :

(1) CH3COCH20H3 and CchHQCHQCHO

(2) Ethanal and Ethanoic acid

Write the structure of oxime of acetone.

(iii) Identify A to D. 9474925
lLiAlH )
D

:

'%I?ﬁ P.T.O.



34. (%) () 3dovft & fopg dshuvl T 1 gATCHD E;42+/M qH AT g AR

i ?

(i) TS A & Th WG H AW Ay So+4 SR
JTEAT T o AT Well-Hifd ST ST 2 |

(@) R T ;

(i)  Hshu UTgell & STTFEERITRA] U Jean Afeefiehtur Sraeen yefdfa
&Il 2 |

(i) KMnO, T ! sT=diehd S o fe HC1 93w &1 fopan S
2 | 3+42=5

35. (%) () Al & THad A H1 Hlelsw = fifar | Frewss
fom % gur UEHifes s i Hiwia Hier dreehal % o

= fafgu |
i) 298 K W & 7 Afufskan & forw eifoepan & 3R log K,
Yfterfetd shITT :
Ni (s) + 2Ag+ (aq) = NiZ" (aq) + 2Ag (s)
femmg: E g, =-025V, B+ ag =" 080V
1 F = 96500 C mol ™ 243=5
AT

@) () HUS & fagq-smee &1 yem fom fafew | 19 Cu2t & Cu
T AUER[d s & U e & 9l d foraar & STEvEeh

BT 2
i) 298 K W fm=fifga o« 1 fogg-args s (emf) Tfienferd
Mg (s) | Mg2* (0-1 M) || Cu2* (0-01 M) | Cu (s)
[EO@FT =+271V, 1F=96500C mol_l, log 10 = 1] 2+3=5
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34.

35.

56/1/3

(a)

(b)

(a)

(b)

(1)

(i1)

In 3d series, which transition element has positive E;\/IZ“L M

value and why ?

Name a member of lanthanide series which is well-known to

show +4 oxidation state.

Give reason :

(1)

(i1)

(i)

(ii)

(1)

(ii)

The highest oxidation state is exhibited in oxoanions of
transition metals.

HCl is not used to acidify KMnO, solution. 3+2=5

State Kohlrausch’s law of independent migration of ions.
Write an expression for the limiting molar conductivity of

acetic acid according to Kohlrausch’s law.
Calculate the maximum work and log K, for the given

reaction at 298 K :

Ni (s) + 2Ag* (aq) = NiZ' (aq) + 2Ag (s)

o [e]

Given : ENiQJr N T 0-:25V, EAg+/Ag =+0:80V
1F =96500 C mol 2+3=5
OR

State Faraday’s first law of electrolysis. How much charge, in
terms of Faraday, is required for the reduction of 1 mol Cu2+*

to Cu ?

Calculate emf of the following cell at 298 K for

Mg (s) | Mg2* (0-1 M) || Cu2* (0-01 M) |Cu (s)

[Eey =+ 271V, 1F =96500 C mol?, log 10 = 1] 2+3=5
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